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—1+= : :
3 x—3y=0
A-4 B)3 C)0 D)3 E4
A-6 B)}3 C)-1 D)1 E)3
2 2
abc,abc 1111 Xt =yt = 5} 2 2
d =7 5. = x* +y* =7
\/a,bcabc + \/ 11 285" xy =17 y
A)110 B)100 C)s4 D)33 E)21 A)9 B)V85 C) V90 D) /93 E)11
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7. m,n,s, t k,p €Z*, 9. Bir malin fiyatinda indirim yapildiktan
sonra bir giinde satilan mal miktar
44 | m 57 | m m [0 %25 artarken satislardan elde edilen
; . k gelir degismedigine gore, yiizde kag
_ _ - | indirim yapilmistir?

If the amount of a good sold increases
=p=? by 25%, but the income remains the
same after a price discount on that
good, what is the percentage of the
Al B)2 C)3 D)4 E)5 discount?

& % 25 dowiy dalu (e glo Lo 2oy oIS 1Y)

ol e iy AN (ST il (i ey o gl
€ amiall 138 Fad oS8 ¢ pmidll J8 OIS Lo

A) 20 B) 22,5 C) 25
D) 27,5 E) 30

10. A={a,b,c,d;e,f} kiimesinin en az 4

8. a,b,c pozitif tam sayilar ve elemanli kag tane alt kiimesi vardir?

2a=Db
5c=4b How many subsets with at least 4
olduguna gore, asagidaki elements does set A={a, b, c, d, e, f}
siralamalardan hangisi dogrudur? have?
If a, b, c are positive integers and A={a,b,c,d.ef}
2a=b el oe Ju Y b e (s siaTdie Bde sana oS
5c=4b § eV e sanall o3g] jualic
Which of the following sequences is
correct?

lidn sedamiaslaeia b, ¢ e IS QS 1) A4 B)7 C)15 D)20 E)22

?@M AUl lanlal) (e

A) a<b<c B) a<c<b C) c<a<b
D) c<b<a E) b<c<a
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5% =9
11. = x.y =?
9Y = 125} XY

A)3 B)5 C)7 D)9 E)11

12. x,y € R,
(x+y—15)2+(x—-y—=3)?=0
=>f=?
Yy
1 1 2 3
A= B)= C) = D)1 E) =
)3 )2 )3 ) )2
13, ¥z _ szz?
b a.b.c

A)6 B)8 C)12 D)24 E)48

i2017—i2016

2 _ L S—
1.i"=-1= j2019_;2016

A3 B)2i C)-3i D)2i E)i

15.

2018! — 2017! .

z=12017 = 50171

A)z  B)z+l C)z.2017! D)zl E)z:2018!

16.
(10101010), = (2a2)g = a =?

A3 B} C5 DB E)Y7
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17.4x% —3x2 +5+x.P(x) =3x3—x%2+5
= P(x) =?

A) 3x3+x%+5 B) -x>+5  C) x>-x+5
D) -x?+2x E) 3x3-5

18.P(x) =3x3 —2x?+x+3
polinomunun (x — 2) ile béliimiinden
kalan nedir? N

AN

What is the remainder after the
division of P(X)= 3x3-2x?+x+3
polinom to x-2?

23 g3al) et dand (e (AU 8 Lo

$x-2JP(x)= 3x>-2x%+x+3

A2l B)15 C7 D)5 E)3

19.a.b >0, a’2.b<0 =
|b|—|a+b|—2_7

2—a

A)a B)-a C)-1 D)2 E)b

20. f(abc) = a?) =

£(123) + £(231) + f(321) =?

A)17 B)I8 C)19 D)20 E)21

N\
N

21. Sekildeki tarali bolge A X B nin
grafigidir.

The shaded area is the graphic of
AxB

AXB <Al e il o ALl Aabid)

Buna gore 4 X B kiimesi
asagidakilerden hangisidir?

Then, which of the following is the
AxB set?

A{xy): x,yER, [x—1|<2, |[y+1|<1}
B){(x,y): x,yeER, |x+1|<2, |y—1]<1}
O{xy): x,yER, [x+1|<2, |[y+1]<1}
D){(x,y): x,yER, [x—1|<2, |ly—1| <1}
EY{(,y): x,yER, [x—1|<2, |y+1] <1}
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22. Bire-bir 6rten f : R — R fonksiyonu
igin
(fofHAx—-3)=5

ise x=?

Iff : R— R is bijection and
(fof -1)(4x-3)=5,
then x=?

ALE) A e f R — R <S¢
=x0) (fef H(Ux-3)=5

A3 B)2 C)-1 D)1 E)2

23.

1 y=hix)

4/ 4

Yukarida grafigi verilen f fonksiyonu
icin asagidakilerden hangisi yanlistir?

e

Which of the following is wrong
about the f function given in the
graphic above?

Al Uasl) sn L e IS5 Gl ausl
Solle | mla sall

A) (fof)(4) =1
C) f(=Hf(2) <0
E) (fof)(=3) =1

B) (fof)(0) >0
D) f(=Df(1) <0

YOS 2017
aecb=a-—b»
24, a*bzg =90 [(6%3)A2]=?
aAb=a.b
A3  B)4 C)5 D)6 E)7
25.
= il B
- 30 -
c-:@o
\'-.
Q-
x "D
120/
g -

Yukaridaki sekilde [BA // [EF olduguna gore
m(CDE)= x kag derecedir?

If [BA // [EF, then m(CDE)=x?

¢ M(CDE)= x % [BA// [EF S 13

A) 60°B) 65°. C)70° D)80° E)90°



Dell
Rectangle

Dell
Rectangle

Dell
Rectangle

Dell
Rectangle


A

| INONU UNIVERSITESI

MATEMATIK-MATHEMATICS

YOS 2017 |

26.

Yukaridaki ABCD dikdortgeninde
|AD| =|DE|=3cm ve |AF|=3:|FB|

ise ECBF yamugunun alanm ka¢ ¢m®
dir?

According to the ABCD rectangle
above, if |AD| =|DE| =3cm and
|AF| =3-|FB|, then what is the

shaded area of ECBF trapezoid in
cm??

cilS 1) ¢ Ae ) AABCD Jukaioall
<S5 |AD| = |DE| =3cm

Sl dalia 2 Lo laiad «| AF| = 3-|FB
22 1 ECBF wajaiall 4pil JUadll

11

A5 B) C)221 D)11 E)15

A K B

Yukaridaki ABCD paralelkenarinda;
[cK], C agisinin agiortay,
5-|AK|=3:|KB| ve C(ABCD)=78
birimdir. Buna gére |DC| kag
birimdir?

According to the ABCD
parallelogram; [CK] is bisector of C
angle, 5-|AK| =3-|KB| and
G(ABCD)= 78 units. Then how many
units is |DC| ?

[CK] o} :ABCD g3t (55 sal il
will i€ o) «C (s sl lp Uil Coiaie
C(ABCD)=7855-|AK|=3:|KB

‘-‘|DC| Ao a Lo idiad

A)20 B)24 C)25 D)28 +E)30
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28. Yandakenar D I 29. A(1,2) noktasindan gegen ve egim
uzunlugu 4 cm acis1 120° olan dogrunun denklemi
olan ABCD asagidakilerden hangisidir?
karesi F
goriilmektedir. Which of the following is the equation
[CE] dogru  © of the line which passes through A(1,
parcast, O i = B 2) point and has an inclination of
merkezli 12097
yarim ¢embere F noktasinda tegettir. . i i
Taral1 bolgenin alani kag cm? dir? bl e e o3l Ll dlaladl) oo L

€120° Juddlda 04l 5 A(Y, 2)
The side length of the ABCD square

on the right is 4 cm. The line segment A)y=—/3x++3
[CE] is tangent at F point to B) y = —V3x + V3+2
hemicycle with O center. What is'the C)y=+3x—-+3
area of the shaded region in.cm?2? D)y = 3x —/3+2

. E)y = —V3x —+/3-2
.e-“4"\-’d*.4djlﬂABCD Q—.’JABJ}A\@
Aoy F akaiilsie Gdas' s [CE] ol ()
Aaliaa 2 aus o O 8l 35 Gl

¢ ATtatl el

A)9-2rx B)10 - 27 C)l11-4r
D)12-27 .E)13-2x 30. Asagida verilen denklemlerden
hangileri reel diizlemde bir cember
gosterir?

Which of the following equations
represent a circle on real plane?

e 5 L ad ) Yl e
Sogisial 5

l. x%+y?-3x+5y+7=0

1. X2+y2+2x-6Yy-7=0

o 2x%42y%-4x-3y+7=0
IV, X?+y%3xy+5x+5y-7=0
V. X2+2y?-3x+5y+7=0

A)lvell B)lvelll C)llvelll
D)II velV E)IVveV
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31.

33.log,(641log, 81) =4 = x=?

A)6 B)5 C4 D)3 E)2
a

Yaricapi r olan daire ile bir kenar

uzunlugu a olan karenin alan1 birbirine

esittir. Buna gore dairenin ¢evresinin

karenin ¢evresine orani nedir?

The area of the circle with radius r is
equal to the area of square with one
side length of a. Then, what is the
ratio of circle’s circumference to
square’s circumference?

= =?
gl Al glana 1l 3 8 813 Falies Ciial 34.log;8 =x = logy24 =
Tagne () 5 0l s et A Lad @ 4alin sl (530

i ¢ @;‘J\ Ax B)3x ()

x+1

D)%" E) ==

3x
2

AL B OF DI EBY

log, 64 logs 125 2 o
" logz 81 log, 16 =? 35. }Cilgxx_’; 6 =?
A)- B0 .01 D5 E)ow
A2 B f pi pt
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36. f(x) =e*cosx = f" (g) =? -
38. [-* sin 2xdx =?
2
A) —e3 B) —es )0
D) es E) e3 A-2 B)-1 ©)0 D)1 E)2
N\
N\
AN 39.
N\
y=x+2
37. fbc) =[ (x?=2x+1)dx, 5
fB =5 =7f(0)=?
A2 Bl CO0 D)-1 E)-2

7
D)E
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